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uaH olsed dAltly alscl M2 @olAld 5Ll 258l ASe. d sl J

186

13.2 (a) Hi saldd ©. (2)
LR 6llE 6L 61y aiscll ol Hlel dolliRy g5l HLdel. o sl 13.2 (b)
% euulal. (b)
g clell 24U A ULUL-L GUL0L alsal oflol A, ol el HiusAL doiAiRY gssixl
%32 Ugdl. ddril Gualarll 28l 13.2(c) Ml suledl w21 24, ©
L sl vl Aividl 13.2 (d) 40 sl waidisl gvusl.,
(d)
wicl vl olseln Guell alscl uel dldiul geel % Hiudl ol celli
25l 3R ugdl, At agwell ol 2Alewsdl sl 13.2¢e) i saiodl uxde v
BERAEIEN
(e)
b
U4, U8 dotersil ot ol % AUl alsdl €9 deARA gsdirl Budlal ales ol
Y \ b
54 9. N1 o (1311 4 |
b
h () /1 b
b ®
25(d 13.2

d suld 8 5 dotanl slelzedl Uil © doriyel oA 8. (ldold, 21l ol WE A dotte-l Yvs

sdald). d e3sl a2sn dlal M dudl doils 2 USLOLSHL 2RISR 53 i 2l €9 Elolsal ALl

53l 54 &olsu 1AL,
gd, ol dote-l dolls [, uglous b i GRS 7 adul dl i Wl eiddl sl sugli 13.2(6) 2

galledl yogorsil g,
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12, 69 dorAlRUxAL 8250 AL AL
doldRY | &Asn (=1 x h)
+
oAU 2 o &SN (= X b)
+
doldRU 3 < &S (=1 x )
+
doldRYU 4 | &S0 (= 1 X b)
+
Aol 5 < &As (= b x h)
+
oAU 6 < AASN (= b x h)
=2(I x b) + 2(b x h)+ 2(I x h)
= 2(Ib + bh + hI)
il Y2l :

Aot Yrsu = 2(Ib + bh + hl)
wél 1, b2k doten-l 2@ Y12 (edges) .

A8 22U AL SsH 3 ARA HeH dLS Sy, 5181 5 21 U2 2udl 2154 doitS-l eyl A1l s Sl
Belgrel dzls, %l dotanil dots, uglous i GlULS HtsH 15 AL, 10 A3 244 20 A3 1, dl df yrss
2[(15 x 10) + (10 x 20) + (20 x 15)] AH2
= 2(150 + 200 + 300) A2

2 x 650 ¥¥?
= 1300 A2

UlE 5 5 % Aol dollsS, USLOUS At GlALS AHIA 1Y d Aot AHE (cube) s, %l AHEA~] €35
IR @ G4, dl AL AHAA Y50 2(a x @+ a x a+ a x a), §Ald, 6a* (Y¥ sl 13.3), Fed, A,

a ARAIL AHE Y50l = 6a?

25(a 13.3
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gd, UL dorasl 9 Wl Wl doteirdl Wl 2 dlial Radsl 2R Yl o &sisn ik, sidl
[BR2unl 2R oyl Ax1s0A doteirnl WAYSI, Ax1s0(Lateral surface area) s&UA. 214l A dole-t-]
dodl, uglars b 24 Qs h ¢ld dl Al WAyl @159 21h + 2bh 24441 2(1 + b)h 4. 21 % ?0d,

A4l oyl doile a €ld, dl d«l U Yl 259 4a? dld.

Bual ollotdl Ml AvdL AHEA 5 doleiredl Yreso 6 Yvesul sélal. Aldl HUBl s2dls Belgwl

ag(lan.,

Gerganl 1 HAA dd Brsa-gl asourd ©. d Aldisdlsdl Rt 200 s dlaiidl doed dissidl
vilvil U2 2l Busa-gl wsalr vl 8. (g2 sl 13.4) 20 s130 32 delL AlssA sedl st wledl
A d AR 9. A vlvidl doils, uglous 2 Gl s 80 Axl, 40 Al 2 20 A Sy, dl

N

40 AML doSaton sedl A1RA sl %33 ud?

G5 : A4 vl aigiHl oy s1210 Aletsdl 8. el 33 510 %

AOLELAL BALSIRAL VUL Yrs50 B2l ALy, vlvil ool i

dolls = 80 A, uglous = 40 A3, Glaus = 20 Al

Ulule Yol =2(lb + bh + hl)

= 2[(80 x 40) + (40 x 20) + (20 x 80)] A1

= 2[3200 + 800 + 1600] A+ 215[ 13.4
= 2 x 5600 A3 = 11200 A2

g5 50l &otsn = 40 x 40 A
= 1600 312

: wlvile, Yresu 11200
28, %33 s1o10eL g5l AvaL = — — =—— =7
w5 519101 &Ll 1600

2], At 7 s1oL01+l %32 LAl

U 2 20b, 2bh, 2h1 H12 2AsH 4, 1 2L 2 510101 BLOHBL. SLOL0LAL MUY, el UL HUW 922 4104, LBl el il
Sl dl 51910l 2541 5ALUS o 210y, 1,
Gelsel 2 ¢ gHle del 8 L2 AMEA 2Ls1+] alsel a1aAl wiell-l 2isl otid 9. d-dl otgi-l R 1.5 +l

aioll 8. d dldan Rl 25l il aoi 25 A3l donSaiell AR alel qoud 8, (il sl 13.5))

NN

dl @lElrl s el T 360 AL AQl $3¢ W3l ML

G5 @ ¢le Ui oy U @€l daladl Hidl 8. dal %33 dlel-l vl ssl sal,

N

gl eisld yresu g ul,

e 2islHdl R = 1.5 4l = 150 A+l (= )
' . 2u5ld 13.5
21, 2i5lAL otglAL ool 33 &g = 5 x 150 x 150 A3
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g5 ARY dleld Az = (ouy)? =25 x 25 Al

. 2L8lHL GlglAL Bl &g
%33 alel-l Aval =

25 dleld asul

5x150x150
25 x 25

180

1 St 22l 12 @lgl dousalsl v =T 360

N ~ c 360
5 dlgl qdusaldl WA =% o - 730

180 @il @dausaledl w2l = 180 x T30 =3 5400

KU 13.1

N

s 1.5l @lell, 1.25 3l uglonl i 65 A3 GLEL wlResl soll eirladl €, d-f 1l ved 8. wilRes

=)

allexdl 4180 a2 Ldl
() ol oiiaal %32 olled &lsism oLkl
@ii) 1 "2 elledt T 20 Avi alle W2 adl g v ML

25 3xAl dolls, ulons i QLS isH 54, 4 Hl 21 3 4l 6. 3u-l elald 2 9d 7.50 wle 12

YLl 3o1alelL vl 2Lkl

oty slastl alaidl wRBEk 250 {1 9. o 10 Wl #12 dvl d+{l 12 €late 2atatdl vl 15000 Al
Sl dl elasl GRS el

[AAL : AR Eldld] Axs0 =iyl aa1sa]

25 ollMl 9.375 2 m1s0 390l Asld dedl 390 8. 22.5 AHlx 10 AL x 7.5 Al Hiuxl edl S21 @i

oL 2218l 200l asid?

s yHuA Yeldl ol o 4R 10 Al 24 oflow dota Y2ll doitd 12.5 AH, wetons 10 AL 244
Gl 8 AHL 9.

() 56 U2l uialyvsle aolsn ay 97 seq?

(i) 56 Ul gd Yresa vy 92 s2¢,7

~ ~

Bl s stad Al G1BA (Al wid) eidida 8. d- 2ual wdd ©. % d 30 Al alef, 25 Al
ugle, 24 25 A4 Gy €, dl

() dupdd sl aolsn seq A?

(i) 2l 12 412 12 Sedl 2u-l »33 w32

ol gsiet, ‘il H{lots” sl vivimi {lsis Us s2a vilvil oisitdciedl i 20 9, el el Hiudl
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ol viivitl o3Ruld 9. Hial vitviidl My 25 A4l x 20 AHL x 5 AL A ALl vivLAL MY

15 A3l x 12 Al x 5 A4 9. ot elsdl g6 yvesasdl 5 % af @ wod. A Ysi-dl ela

1000 A2 LT 4 €A, dl 6l U5+ 250 viivl oietiaatdl vl gllsl.

8. uxdld d«l oudl aisal F=l AR oLyl v HALY] dlsusilal oi-ldd gld dal dinvilensll s1MAdls

Ul (el 2uatasl ouat dletoll astd dal alstl Fdl $ld) s 1y Al 9269 69, Hidl ad 5

RLaLs s1ul vol iiesl ol qund 9. d- »tao1ell st dl 2.5 L Gl »id 4 ¥ x 3 3l 241814100

4l Hie sedl asusil s ?

13.3 doiarila Housiy Yrssn

A AUEL Aduusi s Sisoflo U dlsdlat dl, ot derira gsiell andl 53 edl d Herer Al

e 9 HA? (il >usli 13.6.)

2usld 13.6

N by

wel, ol awil [RRldo gl dl 2ued deigdla dasiR

SN

(Right circular cylinder) M09, 545 d Clc\li“ll&l% dlda ad
s12VRIL otrld 9. UBL ¢d ASA 5 sUL AUSIRA doelgTily

AOULSIR A s34l

NN

15[ 13.7 (a) 4l di Bl widl ddousik 8 ddl s s

N

ASL 9L o AL IR s1esel AL Al 2l 20l dA dotgly

A0SR 58l Al AL,

aafl, o sl 13.7 (b) Hi ealedl WHIBHL Wdl dAdoisiz AL $id, diugl sl

sélg Ale.

(2)

)

(b)

2usld 13.7

~

d dotgdly dnsiR

A8 2l Ul dotgdle Anusi-lL o Gudlol s3gl. 2uel, ol Gedut L 52 S, dl HaLsIR Asel A

degila dousiz s3gl.

S, %l A0SR 2 51910 A3 aisAl S1d dl LML L9 52l 510101 B ? yan +{l doils dosiad

o dletndl Hie Yadl ¢l ddl s doidid S0l g58l dl 2 uglous AnsiRl Glas wedl $iu.

(g2l >usla 13.8.)
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Sl e T |

~—1|

2u5d 13.8

s A0 A NS asAUElHAL s Fed il ikl 3 satasl dons i aqausiz wail uRy wedl
Q"l?{i(‘l\ 2mr 9.

tel, sl asAulEle 8o = dotallA sl AxAsul
= dollS x uglous
= o5l Wl uRRE x A

=2nr x h

24, ANl asuuléld axsn = 2nrh

2], AoLsIRAL WALl Blosal # otd Aosil Gl 7 9.

U8 s Aousiel BRuml, o ol Gedu L 534 G, dl ‘Aosizl Bl
ald sl wdll Blosil Ao,

a ~

ol AULsIRAL dAlAl 2 HaLd uel eislad dl, usl » Blraaial o

o~ N

adoil (aaotd adousiz wea)-dl 932 Ul 2 e3s &osn w2 dlalel

)

(%20 25 13.9), Aousias] g yresor 2mrh + 2m2 = 2m(r + h) 44,

: 2u8ld 13.9
w12, A0SR §4 Ys0 =2r(r + h)

], Aousil Gl A vt Blosal #69.

8 dd wsel 1 uRel dle 530 A5l 3wl vy AvaL 9. 20l 1l saial 2R Birid 2 2T

<. N . 22 :
el 9. YR, 2uel ARLdlHL d-{l qarmal [(F3d AL 314 4.

Geleanl 3 ¢ Al d-l [EsuHdl wigse |2 AdAousiR S[adsiud Hikd oidladl

o

. N A

4ol 9, 3ladiesiu-l asauil 12 d e Uusl Gualal 53 9. (i 2usla 13.10.)

N NN ~

ol slasiesiudl doils 25 A4l 24 Blosal 3.5 A4l Av, dl dd Seal uurdl »32

W2 dH = % a8 sl

B3 : Aousiz SladRsiuAL wadl Best () = 3.5 Al sgld 13.10
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LU ULE YR~ &slsul

sl disiusdl Glus (dous) (k) = 25 Al

sladizsiuddl asuuidld assa

2nrh

2><§><3.5><25 oMk

550 A2

Y 13.2

osul wi=u Gedvt 4 Sl Ul 7= % Al

-~

doigrila daisi-dl Glas 14 Al 2w asyuidly elolso 88 AHL2 ©, dl -Aousll WALl

SIEENEN

fugel wdRimiel 1 e Gl i 140 A3 widi-l iiaoll olf, Aousiz 2isl ot-iladl 6. d etriladl e el

1 Hle uduel 33 usal?

Algel »is wdu 77 Al aioll 8. d-lL 218 &g (cross section)dl el S

2 4 AHL 2t o1l Al 4.4 AL ©. (gl gl 13.110) dl,

(i) d-il viex-dl asruild &osa

(i) d-il etgl-l asuuild a-lsn

—
—

(i) dvi §& Ybs50L ALML 2usld 13.11

120 AHL doitSatnl AEA/AL 4d 84 AH] 9. %l ML Heldd UAHdd oidlddl HIS AR 500 il

HIRAL U3, dl udel el Ao1s0 sedl AR Hle ¢a?

25 A0SR 2iLs1RAL dlotell GlaLS 3.5 H{ler A i 50 A4l 8. alatdl-dl asauldld Joral-l W
wlet H12 Al T 12.50 Sld, dl 20L51H HIZ g6 w2l 9t

s AnLsRAl asAuEl axsn 4.4 {12 9. o d- waldl Bl 0.7 H{l €1, dl d-l Glas L.
25 gLl viesdl quLldl i 354 9. d 10 4l Gl 8, dl

() »iexsll asAuldld eolsn ikl

i) s H{> Ul T 40 AW vl asAuldld wiee saldl wal sedl »ud ?

YIR(lA 21RH, Sl ALHAHL 215 28 | @loll 2 5 AH] AL A0SR ULOY ., A8 2134 2l

AUl g alosa 2llHl.
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9. (i) 4.5¥l Gl 2 4.2 H{l ey q1adl el Aousila dgla-l aisl-l asuuidly el-isa ikl
. by 1 g g g =\ ~N a by . = (e . N
(i) 2Lsl etritadl aud T e REld A5ty Ay Sld, dl MRUWR s2¢ eld BuAlaHL daly e ?

10. sl 13,12 40 dausdl 4 il d- yauldd susial sisa ©. Fu-il

o

N

Wil 4l 20 AHL 24 Glatg 30 AHL 9. Halol x4 dalndl e

2.5 AL o0l d aladl Hie AL 8. drgied alsdl Hie s2d, 51U
AU d ollHl. ausld 13.12

1. (el el sidoiiddiadl 3 @l uidl sz 8 de Un-gle oiiddidl 24 aoaai-l

SAsISUL ool d 9, 835 Ur-siesl Brasal 3 AHl 24 Gl 10.5 A qvarl 9. [Qaed

s51S e s1deild pual 9. o 35 63151 Sy, dl 2L el w2 seg siéuid Adu?
13.4 doiarila 2gel usesu
el vculz Yol 253U 2sfavidl awl oididld 552 weld oidiedl, 2idl sslaia Loy

(Brar#) (prism) séand 9. ¢d MM AL Sl dal oflog usiael 552 ueld«dl [z 53020, (24 szl

552 ueldld [RlHs sdaid.) Aldl U8l wsu 3 d 5ql d ei-iaal.

uelel : Bwal stevell €l dell Busier ABC stul. Busiadl 515 »is dot oly (112 3) AB uR dioil uz €idl
ALl [0 sl 13.13(a).] el Busiaisdl eliy uR ol ougdl usdl 24 Bisteid eidl-l suaui el
auid gHldl, o ot 97 di Brsteid ell-l 2wy sadi otrddl 2usi iavl sl ?] 2usli 13.13(b).]

A A dd FHL 2USASIH vl Sld dal sl dle 2 7 [ sl 13.13 () 24 (d).]

(a) (b) (c) (d)

2usld 13.13
w14 C-l'ﬂ'tg'rl?ﬂl é’l‘é' (Right circular cone) s&d14. 215l 13.13(c) w A
Rruleigenol dotgila 2g 9. AB A GlaLsS, BC < [Blosdl 24 AC - 2lg-l
sl Gl ([ds Glas) sdaid, el »uusl B 1 2igeil dadousia uidie

5vg 5l Ul gl G, Bladl 2 o1l Qs st si A, r ot 143

~ ~ ~

galdlel. 831 25 quid sul U5 dogdla g A sdald d Wda. sd g (@ (®)

. susld 13.14
uR vl (il gl 13.14.) <
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2L 2Lslaxil dotgrily g e, sRe s (a)ul QIR wat-l S«g a8 olsdl v, uluL Al sieveil
oisttadl gl A (b))l uidl aqousiz Adl, vl dsusil F3 Wisl dotetla gl o weuA sl

glatell ‘olg’ll el ‘dotgrily oy’ el

uealltt s (i) stornuial cral@ad Id Ul A4l oy u GupABURL sto ddlda 4 Gl ddl ag el siul

2 dd gl asAULEAL 519100 UR oidl 21 S Asld ddl Id vildl siel. (dd wuidl Ag- siul el

by N c

d 2igell »lizll Gl @, d- 743 sulald 9.) d dd L5 S5+ @l Fdl vy 8.

>

(i) A 4 B Riaaion el euad ol dd viseilon wal daldl dl, 2isld 13,15 (o)Hi saledt uxdi-l
ALOLSIR LAl MRlddl Agel As0uL dd s Asal.

- N

(a) (b) 1 ©
2usld 13.15

Gii) ol 25l 13.15 (c)4i salda siaaq [big O Hidl vz adl 2uusil gll oiddi A 53 Al gssiul
SWUALHD 2 dl 835 sUldl 2541, v dolmdl il [BLsiel ¢ol v d«dl GlaLs gl 1l (slant)

Glas /oedl gal.
. ~ N ~ [ 1 N ~ .
(iv) sd, g5 [BLsii aaiso = 7% £35 [Bsterl vl dons x /
21, YU 1210 &g = 6lHL % (PASI8LAL oSOl AUl

= %bll +%bzl + %bsl + e

- %l (b +b, +by +--)

1 .
= 5 xIx sl 13.15(c) Al asawdl-l yel dous
G 3 b, +b,+b,+ ... visldl ediewn wHE asuwdl-l oL oiud 8.)

ud, sl aseon gl wadl RMA otrld © 24 d gyl Wl wRe = 27 edl 8. Al r gl

el Besal 69,

. .S 1
9], gl asuuield aeotsn = 5% I x2mr = mrl
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], wiaLl Brosat # a4 oLl Gl 769,

“HL 5, waaelud WA ddsdl 2 =72 + A2 (2l 13,16 Hi S asia.)

24l A aigel Qs 9.

9l /= 2 + K2

N\ N

2usld 13.16

8, ol gl ikl oif €1, dl r Brsaiainl adosiz sioto-l usl %32 ul, d- a-1s0 o2 A,

2119, gl g4 Ysa = nrl + et = nr(l + r)

Gerg2el 4 1 g{l Al Gl 10 A3l 24wl Brosar 7 A4+ €l dan dotgrla gigl asuuiél astsa 2L,

B5e : gl asuwdl Axsn = nrl

22 ~ N
== x 7 x 10 Q¥12 =220 3412

Gergel 5 ¢ gl Glaus 16 Al i warll Brodr 12 Al 6. d-dl asrwidl xsu i 54 yresn Al

(m=3.14 dl.)
B5a : 28, =16 A4 24 =12 Al

aedl, P= A+ 2 udl
1=16> +12* @l =203
28], asuulél aasn = nrl
=3.14 x 12 x 20 A2
= 753.6 AM|?
auil, s4 Yyessn = nrl +
=(753.6 +3.14 x 12 x 12) A+
=(753.6 + 452.16) A+

= 1205.76 A2

BELSRTL 6 = USLSHL S8l 2SR AoLedL g Fdl dld 6. (%M gl 13.17)
d-il Al udion enatl Brosl 2.1 Al 24 doitsS (Glas) 20 Al 9. o sl
ucds 1 AH2 Al u 21U 4 HSLSHL LRI 1A, dl 2L S8l UR @ 524l &lelL

NN

¢, d A

pant

Bia : usLSHL sl ol Ssiel asuuidl uR o dlengl, sd HsLSHL slell gilkal
sl d-l asuuleld eotsn aidley. i weAl, suusid wsid-L 8-l Glas
20 dlargdl d-l 2Ll Glas ikl

wdl, 1= + 12 = J@.17 +20° A =/204.41 Al =20.11 3

2usla 13.17



196 alBld : 9RQ-9

el ustSL deill asuuidle dsa

22 ~ ~ ~
= ntrl =7 x 2.1 x20.11 d412 = 132.726 1412 = 132.73 2{‘{12((—[3[0{0[)
1 A2 QL asauidl vz slau-l AviL = 4
212, ALl 181 UR elRlAl Aval = 132.73 x 4 =530.92 = 531 (4216121)

2L, HELSHL S0 YR 2UA 531 H5LS-L BlRll 8l

ALY 13.3

. .2
Ul 2Ax) Bedut A 53¢ S1U i = = al.

Lo 2igeil uidldl e 10.5 AL 2 d =l 21l Gl 10 A4l 6. d -l asuuil aoisn bl

2. %l oLl Gl 21 Hl 24 widiedl i 24 Hl Gld dal g §4 Yresu ikl

3. 2gel asuulld aoisa 308 A2 2 d-ll Sl GlaS 14 AL 9. 241 gl () wadl Bl
A (i) e AU Anis0 WAL

N NN

4. 2y s+l doy 10 H{ Gl & 2 d-L il Broadn 24 4l 8. dl,
(i) oyl 2Lixl GluLsS el
(ii) 1 41> <AL T 70 Avl doy ollladl M2 auldl s1useil & vl Al
5. %+l GlaLS 8l A wial-dl Brol 6 |l Sld dal g sl doy eilddl Hie 3 4l gl s2dl

alsuslldl 232 ud? Hidl dl 5 [Ralddl W 2 sIusuMl 2dl olaLlsHl qamal 20 A4l Feadl

8Ll dlgusil qun 9. (1 =3.14 dl.)

6. g s HseiRuxl 2L GlaALS 2 il Al i 25 Hl 2 14 3l 9. d-l asuuwdl ur

~ ~ c

100 {12 <l T210 AVl A=Al sl W2

=N

L4l

7. s sz ([agus)-l 2l dotgrila g 2512l 8, dit wiisl Bloat 7 A3l i GlaLs 24 A3l

69, viicdl 10 2l otladl duRldl S0, as1s0 AlbL.

8. s o1 22U el olLslAl aralel el uisal $31 Gualoil as astd dau stéelidal 50 Wil aig
Ol €9, Ul s A5l WALl el 40 Al A GlALS 13 9. % Ul 5 A 5ol elglell Mol 2Ll
wal 1412 AL T 12.dv 2id dl okl % g 39Ldledl g vl gkl

(n=3.1424 f s =1.024dl.)
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13.5 2Nas usssun

A5 (sphere) 9, D7 9 A Ada ¥ ¥ D7 9 dil adaiAl 51010 U D3] 250917 SL, R 53 AL Fell U+ udls

o

(olg, Flad Bigell (3 24 adusd 3rg sSai.) Auid 2id2 (3 24 Blosul séaid.) suda el axdea uzsl

. c by ~N N c N 3 NN N N
ol wLglel Lol secld 9. ¢d ad sl dsdl-l ey suaui el dlewdll vt % Ad ot [aeaml

~ N

Bisieid guidd, dx guiadidl »id dl 2 ddl 4552 ueld oid d ad s asal. (pisla 13.18) d g

eld 97 25 edl? 6L, dA olds s,

N

PR ddad Al gHidlsl AR oteldl
J]

Al Seae 9 Ald dsll i seusit 53 asi?
§dold, d dUAs 5% o, U, AU
Ml Bigal Mlad 2id suda [Glepiidl
~N ~ NN —
oircl BruRaelly aq suslad alas s o.
(B (Blga olles Svs 2 [MBA SHdr-
a-dl ZoaL sé 9.

A8 ol 2 el asauidl 3 9. %+l
asAULEl ollds €1d Aal 8- ueledl 12 Hxd susld 13.18
AEs Astl BUULLL UL,

uerltl oo dd oMl 3L 91 5 SIS d-uiel Rudl ul 97 dd wmBldl % sdl 5 d-l sau

N a ~ ~

g1l 54 dletoud €. ¢d, s w0l edl @S dui vlel viialad, wldldl 2t a4 edidl 2uAau

%]

g1l dlewllad, R ‘AyRl’ el LY oA AR eIl d-dl woul Aval 2 2isRil-l Guaol s, il

N

oL vl o 28l elRledl a5t b Ml elRl etinald ALy wvil. [2A sl 13.19(a).] iRl A3id i

dicaleie u [Raudl 30, esiddl asuuidl ur-l eidld gadal sl -l

gd, dHil [Dasd atan-ladl d Blosul il asia d we
BlAl cUlAAl HIUA HI2 Hes $dL S6L. w5 519100 UR edl-l
Brosul eell Bloienol a1z adu €l ¢d sq dlelda
gidlell s ugl 25 ddu Mald U3 s, @
[ 24l 24150 13.19(b).] ®)

L o1, Sl dH-L 9 W ? 2u5d 13.19

dllesl asuuldl aisdal auida el dlas Fedl o Bladialonl Al ddolidl ULl alsdl I duly 9,

el il el 9 597 2L enld 8 5 r Blasuidial ollas yresn

= AR quid 7 Blesulal ddo- axsn =4 x (n 72)



198 alBld : 9RQ-9

UM, sl asuldle asn =4 1 2

rooldsHl Bl 9.

d¥ Olletsel s2al Yvs oS sl 9L 7 Ml Vs %, d AsLsIR O,

g, 5 1552 AUAs 4 drl 6RR16IR Al sl dlas g wd 89?2

g, d 6L A ool adaiy 8. (AL sl 13.20.) Uls 21g8L ool 9 sdad? d-

2u5ld 1320

2405 (hemisphere) seUd. (34 % hemi 266+l 28 4 A1y 9.)
2 drdl asuuld o ? de Seal yrs s ? ol s as e oflol Aue (W),

S

~ s A ~ N . . NN 1 N ~
ol sl asuuidld s olles-l Astsul sl 2144 29l d 42+l 5 el el

1, olasel asuwidle astsu = 27

2], 2ANAS Bl D15 AL G1AL dall dlets+l Bl r 9.

iell, w1Eol0asl ol Y6l Adi, def 56 YMsO 272 + 2 A,

Y, wollasl s AWl yrssn = 3nr2

Gelgel 7 : 7 Al Bl alasl asuuléld astsn ikl

N . - . 22 N N
G5d : 7 Al Brztenol slasl asiuidl astsn 4 =4 x — X7x7 A2 = 616 A
Gersel 8 : 21 A3l Bl 2idoliassl (i) asuuidl- axsa (i) sa Al yresa Al

N N s . 22 N N
B5e : 21 Al Brormical 2iolissl asuwidle astsn = 2m2 =2 x - 21 x 21 A2 =2772 A2

(ii) AE20As] g Yrssa 3m = 3 x 27—2 x 21 x 21 A2 = 4158 A2

BEISWL 9 ¢ AEAML 51 Sl HL2RULOSA-UAR 7 H Ao YlAL ANAsH] sl 53 9. H2AOsa-AaRA
Adladl Hodl @l &slsu Akl

G54 : ollasl eu =7 Hl. e, A<l B 3.5 )l aa, wuel, erad sa-uaa adiadl Hodl woul

= ollasel asuidld axsa
22
=4 = 4 x — x 3.5 x 3.5 4
= 1543

BELSRRL 10 : 215 HsioAl AELALSIR Y3uend 391 scllwll 9, (Yil 25l 13.21.) % AH2USR gaue-l
wReL 17.6 H{l €1, dl d 100 AL T 5 Avl 3ol wal ikl



Yrssin n RSt 199

(RN

G5 : 2], Ul Mot el asauidl ur o1 sl 8, dall Ul wdalian-l asauield astsn ikl
g, garedl wRa = 17.6

adl, 17.6 = 2nr

N 7
defl, gayedl Bl = 17.6 x 5 Hl=2.84l

X

gl asauidld assa =2 I

2usld 13.21

22
=2 x - x 2.8 x 2.8 {I?
=49.28 42
¢, 100 A2 oraiel w2l T 5.

dl, 1 {12 vt wal T 500.

2L LOUOUSIR Yauest 3otdlrll W = T 500 x 49.28

=3 24,640

ALY 13.4
Ul BeAm A $UL 1Y, Al 1= % al.
1 20U Bl urell st asuuidl axso el -
(i 10524l (i) 5.6l (i) 1444l
2. A 2 yRel olloudl asruidl asisa gl -
() 143l (i) 21 2+l (iii) 3.5l
3. 10 33 Blosuiai »Eeliou- gd uresa dlbl. (n=3.14 €l.)

4. s oUAUSIR $ooUML gal arRalel d-ll Bl 7 Axlel addl- 14 A+ ad . 24 oid wRRAUL sllasiz

gooll-{l asAUIElAlL &lolsn-l ORiTR 2llHl.

5. diolldl ADAOUSIR dlesil el et 10.5 AHL 9. d-dl 2iex AwdlA 100 AL T 16 A¥ saLs

520l WAl Sedl Al ?

6. L dUa-l asuuiel axtsn 154 A2 S, dl -l Bosal il
7. o AAgedl @ Yeelldl el 2UR 2lal @1oL Fedl €1y, dl disll asaudlpiiel axAgo-l Rl Al

8. larll 2BNUSIR st LS 0.25 AHL ©. %l cwesi-l 2iea{l AWl Bl 5 A3 i, dl aesttl

oLl asAUIEl s 9L,
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€= ——— =3

(i) ~tousizsil dasAulél- dmisn 2usld 1322

~

9. 5 doigtily ANUSIRUL tielA d Fd r Bl 2Us 2ol Y5d 9.

(gL 25l 13.22,) dl,

() olousil asuuidl asa

(iii) (i) 2t (if) Ml HoLdl &A50Ti-L dLtidR 2Ll

13.6 duand ansn

N

SUBL OUGHD HIRBIML 235 8 ueldl asn ibdl dlvll ol el suusl wellsl ¢l 5, ad

weld asladl woul S B, il S ULl WA d Hd eld] 8159 sda.

e NN

14 : ol B ugled 552 €l dl d B Uelel glrl AA5LAHL ASAA 20Ul MUl A1 O A d ASH] woul-l

Hu de asn sdal.

N

8, % eel ueld Wldl €l dl d el vidl gl 8w d vudl ol Ay 3 ualdledl eraiu

2, dl d ALl Bl 251 BIRBL 53 O, AL MRAML 1A d YsidHl ddsaa ] #¥4dl (capacity of

the container) 58 8. Zs4l Ygld A5l woUItL 41yl d UeLd ] 850 $EUY 2 Yeld ] &¥al d uele-]
el wouLHl HH1d] Usidl XAl Etsa.

¢d, % ULl dottrl ddso-l dld s32 dl, U8l dolEd glrl astaml ASAAL FULAL Hiuedl dld

53 ¢912A,

QML UL EoLs0l e UAs 5155 [ARdlRd L salddl M2 ASH 9, U, ARAAHD U8l
A5 8150, doldlsi [l Bnso wadl AnsIR [ drdsn a2 ot ¢la, uid w0l

LR UUEL A0l AA50, Qotelrie Brsul AL ALV Bz dell Gedr s 9l A5 Gedut 53¢ AR

ot ddl Al sald €,

—_—

2usld 13.23

25l 13.23 9g2il. 4R 3 2uslaml salda dolius asn A 8. vidl doilizy dsdlaiia eaRad auilu

dllgal, arl GlALS 7 i dottnel adsn- V adul, 9 dd sél a5l 5 V, A il H 922 Sdl do{e 87

Uls Al doidiRU AWEL gl AsA woUl &a1s0 x Gl = dolaq gL Aasiadl Asldd

CERIR TR

ddl, U8l A x A=V ¥4,
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dognd arsn = wad aasn x Gl = dous x udud x Glaug

WAL L X b x b, %Al L b s s dotassl dous, udlous, Glus .

A4 IR UL 51U A UBAL MU SEL, Bed 5 art ueidl 23el %oU AR d [ERd1RME A 2sH ol

g1l HHAAAL HedH Sedl dval AHlare 53 wsid d oellal ¢l dell BsuAL MU HISHL BLEY U BisH 9.
a

532, ol AnEn-l el dous @ i dl (gl >usla 13.24.) S —
AHE 8159 = QReAL oS x R dons x ARl douS = a x a x a =a? a
ol AHEAAAL ol cotls 12 A4 Sl

dl AHaAd adsa =12 x 12 x 12 Al =1728 (A4l)’ /
AR AUlE 52 5 AR L Yol HOUGHL HIREAHE vl oLul 91, Ul ¢d Ul Seais 2gld 13.24

BELERBIL glRL L Aol GUAloL AHD,

BElE2BL 11 = 215 viedl Heldl s oliogell ofley oligg AL 10 Hl dotdHl 215 elaid oiiadl . 24 glaiasl
GlasS 4 Hl 2t €lateril 204S 24 A4 8. ¢d, A 21t €lard oistiadl 24 Al x 12 Al x § Al Hiu-l $2

quualdl €, dl sudl Sedl $ai-l %3z uga?

G3al @ 2dl, U8l dlald glal Aasiadi Abdl wouldl Hud $21 gkl M 8. dsl usl gl

Bes0l g usal. elaldd ago A ofley 59 Al usl dotrd adgan 2l
dotld = 10 1l = 1000 A3l
LS = 24 Al
Gl = 4 4l = 400 A3l
del, eladd adsa = doud x A x Qg
= 1000 x 24 x 400 A3
gd, udls $2 2 dotan 8, a-l dotsS = 24 A, udous = 12 A 249 GlusS = 8 A3

dell, 25 Serf Beis0l = dolS x UAOUS x GlA1S = 24 x 12 x 8 Al

glalad adsn

aell, o33) Sl vl = :
25 Hed u-sn

1000 x 24 x 400
24x12%x8

4166.6

23, Elald olsllddl M2 4167 $al-il %32 usdl.
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BELSRRL 12 : 15 6lLns Bel sl oadisell 24 9. d visld 13.25 Ui ealenl Horoied Mo ax 21512+ octisal

N ~

oirlld 8. %L £35 odisHl olly-ll dotld 3 AL G, dl suas si-ildd Hiovie aAsn 2l

B5e @ e5 urtef Aris0l = dolsS x colus x dous =3 x 3 x 3 Al =27 A

2l HIAIHL AL AvaL = 15

dell Wi argsn =27 x 15 A3 = 405 A

2sld 13.25
A 13.5

glaolldl s Uelg W 4 Al x 2.5 A3 x 1.5 AL 69, dl el 12 4l A3y ddl 4éld, aqsa

sed, U142

w5 doted welldl eisl 6 Hl aiofl, 5+l udioll 24 4.5 {1 GISL 9. 211 el seal [@ex wuwll

LS A5 2 (1 4l = 1000 dleR)

s dottd qrurl 10 3l alof 2t 8 Hl ugle 8. dul 380 {1 ualgl Axe a5, di d-ll Gl sedl?

8 Ml doils, 6 Hl uglos 24 3 Hl GIELS-AL s cloler vigl viledl . 1 113 <1l T 30 dvl vl
vlgdldl w2l sedl aiy?

s dotet wiRll-l 2051l &xdl 50000 (@22 6. % d-l doils st GlaLS i sH 2.5 Hl 2 1041
S, dl d-l welos adlHlL.

15 OUHHL 4000 @lsl € 9. 835 UlSd-dl s [Rari-l ¥3Ruld 150 (@2 wielldl €. 241 auxml

20 Hl x 153l x 6 H{l -l 2isl . 1 2islg wiell sum-dl disid sedl [Rax ad 2

s oLleldd M 40 ¥l x 25 ¥l x 15 {69, 241 aneldHl 1.5 ¥l x 1.25 |l x 0.5 3 3iu-dl sedl

ALsSiAL vilvl 111y ?

12 Al dotSalon w55 e Ueleld AL EASOALlOL 8 BAML SludlMl »d 6, dl Hdl edd

el dold sedl gl ? dx-l Yresul oLRlit 2L,

AN

3 H{l GlatSaroll a4 40 |l wdiondatel xs el 2 [3Hl/saisl agudl ae © di d 1 Bmlewl

-~ .

seq, wiell aygdl slaqdl 2

13.7 -ousiRd a-isn

ol Ad A dordiRud ollsdld dottnt oy, ddl Ad A4 WAl agoid olisdld awl 53

doigrily daisiz eiidl usid. gd % edla-dl Heedl 2usl dottdd adsn qaey d o edlda qwo

AOUSIR, AS0L = Uidls Ars0 x GlALS = adousiz Wil astsn x Glus = 2k

U1, AU, UASN = mrh
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2L YAHL WALl Brosdl 7 69z stasi<l Gl 7 6.

GElg2BL 13+ s Rl Aol AnusR 9. (g »usld 13.26) % Uds
aiotaidl wdl 20 A4l Bl ada 2 Glus 10 Hlex €ld, du vial 14

el sisled sed (el AHu?

iy

2usld 13.26

B3 : aAlMelll oivlladl sisledl Rl Guallol sl dlaiefl, dieteill el
%L A, ded RiHe sisled e sl e 2], 2Uusl Aousi a-sa il
Aonsiz Aiddledl Bl = 20 A+l
Aousiz giedldl Gl = 10 €l = 1000 a4l

dell, €35 AousiR as = nr’h

% % 20 % 20 x 1000 A+

8800000

A3
7

8.8 N N
- H13 (51281 5 1000000 A = 1 3{1%)

14 Aiotdle 850 = €35 AUSR Uisn x 14

&XM‘{P
7

17.6 3

24, 14 Al 12 17.6 {1 Ride-sisled Baw Ad,

BELSRWL 14 : 32l WOl 25 gsiel vuellilel-l gsini 15 Al Blruai

25 ALl draeidl 32 Al Glas el ARallHL YU cRdl 8. 2L 4 d 3 Al

(lesuiaial stz wialiidg 8 Al Glaus yHl &R ©. (g2l 2usld 13.27.) d

~

T 3wl wiaidl oud d dast 52 8. A gsirel o4l 4 dal & dl dd Sedl

L

30l wa? 2usld

H
13.27

B5E : 2 AL AUARL, UASU = AOUSIR AR 850
= nR°H (R 2 H 2L 2454 AR dietsl Bl i Glus 9.)
= @ x15x15x 3234

2 % d, e35 WAL WAL R4, AAs0 = 12h (r 2L koL vt eRs vl Bl 2 Gl 8.)

=gnx3x3x 8V
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N _ SRR
A, d2Aldl 4L el ga vl =

35 Wldld 850

nx15x15%x32
TXx3x3x8

100
dell, esirelrn Hadl ga s =% 3x100

= 3300

AN 13.6

ol GeAm L $UL WU, = % Al.

~ .

I AOUSIR ARl viatdl wRer 132 Ayl 244 Glaug 25 A4l 9. dui Sedl [@ex wiell Ax1u?
(1000 AHL = 1 [&e)

2. WS AOUSIR Alssil WOUSL el iy 24 AL 2 dell olglel i 28 Al 8. wduHl dons
3503 9. ol 1 A ALl £00.6 UM 1A o WdHU, en 2Lkl

3. s 6 ule) ol WSl ULl HOU €9 : (i) B il dotld 5 AL, wglous 4 AL 4, GlULS 15 A4 & »iq 2l
A6t ULALALY] Ul UL, (i) Bl A sz waldl a7 A3 24 Gl 10 A3l 21 wles
AOUSIR UL, sUL Ul addl g © 7 sedl ?

4. s AnsiRl asuul &o1sn 94.2 AH2 2 d-l Gl 5 A Gl dl (@) d-l wiasl Blal 24
(ii) A 850 ML, (n=3.14 dl.)

5. 10 Hlex GlSL uis Anusiz draeidl el qudld 3otal-l wal T 2200 Ald 9. % oAl vl
1412 AL T20 €1y, dl

(i) il viel asAuidld a-lsn
(i) WLl Brasul

(iii) AluBLdl dudl L.

NN

6. 13l Gludalon ol dousik arueidl axdl 15.4 [@ex 8, dl d ediadl Sedl ARA Hle: Higr
udtl 33 ugl 2

NN A

7. w5 Uld dlssial WAl dnsiz i dsl el ool Yd Ad oA ddl s Asidenl
sl ol 9. dlRadl cun 7 H{a{l 2 Asidedl 1 Bl 9. o WlRadl dous
14 AL €1, dl dussid 2 Asidesd argo Al

~

8. s glulleanl eelpiid 7 Al cllAALL A0SR WML AU Ul 2Ud 9. o YU 4 Al

>
-~

Glars Al elRaldl ildd €1, dl ediviiddil 1y 250 eelaild stual w2 seq Y

o

oirilad, ud 2
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13.8 coiadlu gt arsn

ad gl 13.28 3l A wsl 91 5 doetgtila dousik s deigrila
gl wdldl Bl A 8 i dusl Glaus ust A 8.

=

wellel @ it Wil Blost 214 a4 Gl Jiadl wdl stz

PR N

2 YlAL g oleladll Udd s (ZH sl 13.28.) SUBlL tiel Gualotel
25 Lol 53090, -l glal el doigily g udsn 9f dld d wEikls wgld 13.28
Ad A wsly.

() (b) ©

2u5d 13.29
1Al 2AUBL A3 s3],

A

~

iyl uddl g cdlel vdiovd ol eSy. AR olle d AuslR etdl Yyl vl s3Ael. »iusl

a7 &

AGY 5 d cdladl AousIR ulsl Alsls Mol yHlL o elidl. [l 2usld 13.29(a).]

) )

gd, 531 g Jdlal vdiwd ol 2w AsRML vl 5. LD A ASLA 5 ANLSIR B uBL

)

YL el Al [l 2iusld 13.29(b).]

ed, %l g 2l quid Adlal @R Anisidl vidl sdl A5 5 AnsR Adlal odiod @Rl ol

-l

[l sl 13.29(c).]

2L Ul 28l diRdl wslal 3wl Blol dHid €l v GRS A 1M dal do0LsiR A g
(SN Y

U2, 2Bl dvid g USN A ANLSIRAL BAAS0 F2d Al d-ll A ol Al 5, gL BAsO B AR
Besa-l >l GloL Fed Al

A1, WALl Biosdl 7 vt 2igeil Gl 4 dou

. 1
dgd arten = Smrh

BELERWL 15 : 25 2geil GRS 24 oAl GlULS i 21 Al 244 28 AL I, dl df 850 AL

Bid: P=r+ kel

r= P - =[28° - 21> Al = 74/7 A
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. 1 1 2 . .
dgd artsa = Smth= 3 x o TNT < TNT % 21 3417 = 7546 A

Gelsel 16 : Hi-lst WA 551 Ml &nsnaloll SAdidl g5l 9. d gsdidl Gualal 7 H{l wiaidl Blestcuoll

2 by

g LSIRAL dop otrladl M 53 9. 2isl dall A studdl 1ol wed Sddin el 9. d
clopd ©rsu Al
B5a = ], SR AU A AAsN = 551 H12 2 61OUHL HAl I, ansa 1 {2 B, el doy eietiac
U HAAL SHdle axsa (551 — 1) {2 = 550 {12

ael, dopedl asuuield axason = 550 {12 2 %330 doprl wasll Biosay = 7 3

], Aidlg 5 doprl $5d asuulel ©, (cloprl widiril S Sricid el 1)

dopdl asuuidld axsa = 550 {12

nrl = 550

22
7 x 7 x[=550

550
= E‘-ﬂ—25 Hl

g, P= 17 + P

h= PP - = 25 -7+l = J625 — 49l = 576+ =244]

2Uel, g 2SR dop Brso = %nrzh = % X % x 7T x 7 x 24 =12324

ey 13.7
. N . 22 N
ol BeAUL L $UL Y, AUl 7= = A
1.l dotgdla sy a-s Ml
() Bsan 6d4l, Glus 7 A3l (i) Brosut 3.5 A+, Glaus 12 A4l

2. <ilAdAL g sl Al addl [@eul sl

G) Brwar 734, AUl Gus 2534l i) Glaus 12 AL, ~tidl Glaus 13 Al

3. s gl GRS 15 AL 9. % def ArisoL 1570 A4V €1, dl el Wil Bl 2l (n=3.14 dl. )

4. s doigly g 8sn 48 1 A4 O, drll Gl 9 A ld, dl del Wl @ 2Ll

5. 15 9% USIReAL VLSLAL GUReAL elol-l it 3.5 Hl vt Glets 12 4l 8. d-dl andl (Bail@eml) sedl Ay 2
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6. dotgtila s 850 9856 AH . Al wiaL-ll A 28 Al 9. dl,

(i) gl Gl (i) gl izl GRS 24 (iii) 2ig=ll AsuULEl- &olsu 2L,

oY ~N

7. 512518l Busisl ABC il ot w5 AL, 12 AL 2 13 AL 9. ol de 12 AL ol ds uRemal

sl tid, dl defl eirddl g d-sn kL.

8. Bu-i ug 74l »dd Busier ABC <« 5 4¥1 douSatoll oug«{l 2Auui wReHer sasl »id ¢,

dl 24 el Gieddl Bl 50 AHL dal Wel 7 2t 8 UL oirddl gl eAsa-l oRlit LML

9. s g GLSIRAL UG &olALAL WALl R 10.5 WL 2t Gl 3 {69, df e bl 2L eddlsl

aatedl eladal Saiual sisaiul 2Ad 8, dl i 112 ¥33 Sl aolsn bl
13.9 oloug a-ist

gd, UL ollou 8 ol d Hug d ¥, uddl o 5 A gel el Blaauai slo dl A

NN - ~ ~

25 A UG UL AL 5 FUL 2L £S5 LU HEIRAA AHLES U, ¢d 215 Mg HIG FaUL dl 5 FHL di GURlsd

)

~

ulotd 4l sl uesl, wiotl yug wiellel el el [2iusl. 13.30(a).]

N

gd stoyuds s onaid el ®d uml sl 2l 4l wiell gausidi Geisd tiadl.

-~

[24150 13.30(b).] 2iL AWMl 2dal weld 215 2B AosiRul siuwyds dl a4 d well-d se W,

[l 13.30(c)]. Wl 5 wiell Mdl ot ysd dtousl Bl 769, (i ola-l Braal d-l e il el

-~ .

N 4 . N . N S
Asl.) AR 6lle 3 L e HAdL g L He 2[5 AousIRHL 8l WRlHL 58 wed 97

AN

@) (b) (©)
2u5(d 13.30

~ N ~ ~ ~\ ~ 4 3 NN
Gualsa ulBuL ol se-l ol 2 s34l 53U, dlousdl Bloul R Al 24 gnR3~ﬂ (5 aunl.

s31 25 auid 21 BHd dlow gl [RAlld s3dl dateol Wil st (Geiddl welldl se) Fedl doteol «al.
L9 euld 97 vpuRld voR © 5 olloud se, dow gkl [Ralud wiell-dl st Fee 9. 2L udlolg

-

NN

~ . NN by =\ N 4
yrzldd el gel Blasidl ol diul sl vl % uReuy Ha 9. Hed 5 ol se 37 x Bl

e Ay 9. i Ul

- i,
doug argn = S

N

rooloueAl Blodl 9. ofasydi dd Gu-L adllHi il Aol Allbid uel 531 w59l ULl 2L dolss
248l L5t alel,
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¢ 2001 AL HAHL AL B, dl [R5 wEdL Brtsn Sed win?
witera !
Ld 7l
3 2
S [P . 2
dgfl, A8l s = 37

2dl, ratolioudl Bl 9. ¢d 2udl 21 Yol Gualol eallddi sedis Gelgel dds.

GeldawL 17 : 11.2 A4l Biardtaion sl axisa ikl
N < 4
Bsa : ol adgel =

:2><%><11.2><11.2><11.2 SRR

=5887.32 413
GELS2BL 18 = dNNLE sUL auLdl digl ool Bl 4.9 A3l ©. % audd dig-l addl 7.8 /A,
€ld dl d e 2llAl.
B5e : ONOUF 5UL AURAAL ONOLL HlgrL U552 UL Sleldl, A 80 2L Al 850 e Hsidldl LRSI AL,
a2l Bl oLl 850 g Ui,

Y N R 4
e, sloud anga = o7 r’

%x%x 4.9 % 4.9 % 4.9 A4

493 33 (2ua3)

aoll, 1 A4 gl addl 7.8 wx lael,

ollol e = 7.8 x 493 WM = 3845.44 uH = 3.85 (BUL (2ULR)

BELSRBL 19 : s wENOUSIR ARl Brost 3.5 AL 9, dl dul AHLS Al wielle aniso ikl
by [ . : 2 3
B5E : UAUAUSIR URAHL AHS Ascll wielld ansol = 3

- %x % x3.5%x3.5%x3.5 43 = 89.8 }H?

Ay 13.8
. N ~ N . 22
ol Geav A $UL S, Al 1= = al.

1 2uud Bl uRedl ol adso il :
i 73l (i) 0.63 %l
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2.

10.

LU AAALOL 552 U0 glRL [AaLlUd adl wiell st eliHl.
(i) 28l (i) 0.21 1

N

s Hlgril ALl et 4.2 AHL 9. A d-l gens(l Bedl 8.9 wHRAHD Sl dl df e 2llHl.

-~

ool Agell Al 1AL Yedldl AL AlAl AL F2dl S1d, dl Yedldl 850 e Agrl dAsol

dLRllTR 2LLHl.
10.5 AH] ALl HNAL51R UIoHD S2dl [GeR g8 auidl asiu?
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25 oladl asuuwidl aotsn 154 AH12 1A, dl df adsa bl

N

W5 U5l g2 LS 9. d-fl el ollogal Yell @dlladl-dl w2l T 498.96 ALy 9. A Yl
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() el el asuuidld aolsn v

(ii) g3l viex 2edl gal exsa ikl

el (ol r i asuuldl] 8250 S 1A, dal 27 divisl otou auoll dxigl -l asuuidl
21500 S' Sl ddl w5 dlvisel oLl sirladil d €9, dl

@ <t anadl Blel 7o (i) S i< S’ dRLlTl 2Lkl

g ol sdldl Swd-dl el 3.5 Bl 8. dl 21 Swad dyel Ad mrdal sedl saidl (Bl
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Yads Hsaldl dlssidl s solledl elfguRuei lad yoor 8:
Glats 110 AL, Gl 25 AHl 24 veglolsd 85 Al 9.

(gl gl 13.31) 20 seie eitaal 5 Al st wifeaidl Gualal 1ol
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Lol vl ule A2 10 4L iy, dl a1 @A didla sau-dl 2usld 1331
EERIEN

s gyl Gl 21dd sl U 21 AM] AUALOL ALl LA
ALl 2ALHIR UR 1A 2AL5[a 13,32, 4l saledl oo RloURAHE 21d

9. 2 &g Ml iLdl 8 L Bualol sl 2id 8. sl lal-il é é

~

405l R 1.5 AHL Brosal 2id 7 AL Glaudalon 9. il »uHR B N S - -

UR SL00L 33L s2dlAL © v o [Hear a0 sall 9. A Rear 2sld 13.32
2L el ulaicall el




210 alBld : 9RQ-9

3oL sqaldl vl uld A2 25 Ul @ g0l 391 sl w2l 5 dal wlAH? dl 3o sl g4
w2 9\Hl.
3. 1% OUOUAL HUAML 25 %. dldl sl d-l asuudlHl Sedl esl qaldl 49 ?

13.10 ARAN

AR 20 UsRM A0 el ellva :

1. dotEe Y*ss0 =2 (Ib + bh + hi)

2. AU Yrsul = 6a?

3. ousiRel asuuidld assn =2nrk

4. AoUsR-l AWl 54 AASN =2mr(r + h)

5. doigdld 2ig-l asuuield aAsn =nrl

6. dogld g 56 YsN = el +nr, ie., e (I+7)
7. r Blruaal oloudl asquidld adsn=4n
8. ollourl asauidl axsa =2m2

9. folonsl Au- sat dsn = 3m2

10. doi8ir arigol =Ixbxh

11. ¥4 arsn =@

12, Aousiad 4480 = nr2h

. 1
13. sl arigoL= S mrh

. 4
14. ool 8-sn = gnﬁ

. 2
15. »ollond asgo = Snr’

[A<], YOUR L, b, B, @, r dHll WAL ML AURAML AL 9, def 28 Aeel UHISL 524,



U5 14 |

AL

14.1 wawlas

2Rl gslsdl, 2As88l Hledl, stes, sudvil adl 3uHl A% Yesol Wl Hadl 28 6. 21 odl wldl
2lRsusll, 2o, AHESL 2 AL oflo el g1l Y3l uisal 20d 9. 2 Rdl Biedl 6ol s
ofieflotel U311, 515 Sudledl 151, AR, clumie, YAy diogeisl geigel [ewolinn wal, Jesll uRsuyl 4si2
A1 Asouddl €S ws % UsAUSA 5 2 Dd ALssA g Bl AL U 8 d ehlsdl HHadl 2AisiA
Wadl (data) s& B, data S AR 208 datum(324) < A B, 8L, 3 Ald ASSA O 5 AL 2 Hldl

Acl 268 A2, dH 2UGHL BRRME HUSL 244 Ul onsaell (agl 2llvil ol L.

2ugll glRaL agi ay Hulsdlasl ol 26l 9. suusll [Feollul e3s axtl s 4 olley JAd “ledl-l Gudlol us
Rell 9. dell sl Hi2 3 onvld Hais 9 % widl Wl uel 2eyel diel 3ol 2d sl as, 2um, Hulkdl

c

AYEL dlR8L stealel Uil WA AissaRa 58 9,

Yo ARHL 20t (status) <l e A% B, drll Ul 2139 Aot Statistics Q] il €4 Ad @Bl ©. HaZuui
{54120 212d A%AA WS GUAL] all, ALl 2o uddl [l winiiel HiRdlaixl 2200 A, AHAIAR
drd S8t [BRqd 2, 2y 2 His4RAAL A0oi8 ¢ 55d HUEAL 252052 A 23U 52 YRAL % AU Hd AL 8l

Wikl uell wduedt wiA Pl sy Hodar 3l [[radl 8.
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AisslaUoL 2 Rl 2501 526l calRud 2lsacll, d-f [eanel s2¢) x4 HHelyel dizel Aol 11
A50UAA B8 [AM 9, 512101 2068 YBIYEL AL HI2 FE1%EL el HRA O, dll ALell UYL {12l a2l
UERTERERTRT EX R

1.9 M ‘ol AalBs missiaer +{l ciyd-dll wd sl ?

N

2. Ml ULSILARAAAL AU S AH 8, 51381 5 o AlFel waAnl Guala(l 9.

Y b

uedl [t 50200 Gl slgagurM] $3el 9 A d A58l HUR AL 2edni ©. Al
iRl [Alay aBls Araviicl gelogel AAIAL Al8RL 82 a1 Fdl ctiotdi-l AH1a9 €S A5, olloa [l
5L 20esll GUALDL 5t 1S O, Al 18 Fui el 2usoils201, %2, HlRdl [Redu s
122012 MRl 2AAYRL diReld Ristal sa1 Guallell sy ddl [Avy 8,

UL WSWML SUBL HiecllA @dlell 2L 618l WLl ZsMl A0 530,
14.2 Al 2501520

2lell 2usl lal walr gl quledl 2sid sau-l ey a4z s34 :

uglat 1: xRl aol-i [enell>id 202 i adal. eds gaq «dld-amiadl 55 215 usi-l wlsdl
5ol sl sl AL

(i) xRl adidl 20 engl>i-dl Gas

(i) 215 UMl 835 Radl 61w el drizl ol Raelzidl v

(iii) AHIRL AL lDAAL gEoiril Aeu-q vl

(iv) L+l uonml el il 2l [@Qadiul 15 9l Glaud

alell ¢ viugl Renelaiiol 2sBid s3al uReusl A5, e35 gul daial wulsdl 3l Ad Ao ?

(i) o axel a1 bl e3s [anel wiel d- uz-dl 3 ealsaod yeusid adq doel gdl ?

(i) 2 dmel 20 sl ol w esdzl dlaxiel sl ?

ueis (Bl HI2 s dwldsdlal S8 2Alssd & il vl dgl 2d el dael 8 d wuldld

NN

wealfs wldl (primary data) 58 9.

oflon Frunl uealall 2sBia vael Ml aiaxiel Hiedl dadl ¢, 21 Ad dadel wuledlq
oL M3l (secondary data) 5& 9. el Hilecl % ollo gll 2t 1S RvueAL syl Hoddl diu
R el [Rraila viidal sul elle d-l vel o sioycds Guaiol sl BLs,

¢ ol UMY UL ¢all 3 MUl 3cl el 2isBicl 530 wsid 9 e wialms Wl dan aie =l

Al dsleld 9L 69,

o
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W 14.1
1 od el aaniel sisot 530 wst del qlclell wlil Gelgml AL,

2. Guasl waslel MRl wials Wl 214 oie wlsdlal asilsel 52,

14.3 Sl 20211

c ~

o MUl 25Blcl ey s1el yel sia def duRisdlisl i qlcl-l 3t § elyel $iu,

&

U0lclell AHD UsLeL i Ul 1y il vl Geall el asia vcl azunl sl BLSA.

2lell s2ells Belernl glrl HUlecl-l [afaw Ad it s2eu-g e s,

Gerg2ml 1 : aRid-l s 52012140 10 [Rienalaiial doden ager {18 gl sudel 8 :
55 36 95 73 60 42 25 78 75 62
w1 2e3uel Wl 5121 wl&dl (raw data) s& 6.
2L 2A3UME ¥ MUl g2 ol 2L s el s, 2 el e o el sl 7 dlell ay e
allell »iLeoL oL 2UHALL LM Sl A el ? %l il ARl 2Agcll 5 BlelRcll ¥ ONsedl il cll 9
UL AH L €Ul 7 cll 2ALell 2UUUBL LRIl 2AGcll ML dUscllu,
25 36 42 55 60 62 73 75 78 95
gl 2uBl 2ue LS wslal lal 5 el vl oyl 25 2 012l ayy dLeL 95 €9,
WUl MgTd 2 2 ddd Hedlnl dstetd HEcldl iR 58 6. el »u Brumi dulsdl-l
(Clacliz 95 - 25 =70 9.
vl s R WAL detellsliel vl ay, gl AR d HMSclel 2aedl 5 GldRcll sHL
dllsctellMl clty AH HIL el 9. b URL ¢el ueglell BelgBML %15,
BELSRBL 2 ¢ Ag auou-L HIReL 9 L 30 (el Qode opel (100 Hial) {2 3ol §
100 20 36 92 95 40 50 56 60 70
92 88 & 70 72 70 36 40 36 40

92 40 50 50 56 60 70 60 60 88

dle 52 3 2AlssA oL Hoadr Renelu il v d ol 2udl s¢ 8. Gersanl 4 ezl 70 @

qoel 8 dxdl 70 il 2udf 48, HEAA a8 A0 A4 d 12 dAn UUEL HURL0L el UHIRL Stesui avily :
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s 14.1

AR [Qenell2il 2van
(>2a 5 2ualn)

10
20
36
40
50
56
60
70
72
80
88
92
95

—_— WD = = BN BN N W R W =

54 30

sies 14.1 < btcloﬂéd Hileddl -?)tlglfr\'l-[c\ld«?lb’l slwes (frequency distribution table) $& £ AUdl 5
2alt-lAdg sies 58 9.

d¥ s1es dulR 20l iR 2idf-Rall wal Gualol 530 sl 9l d ¢d ugl-l Gelgai SS9,

GElEWL 3 ¢ ad Hélud eBA 100 o WS UAs AOUML 100 6918 GILLSAMHE ALl Sal. dxizll 215 HIEAL ugs)
o2f] AL 914l Avail Y AL WML Sl

95 67 28 32 65 65 69 33 98 96
76 42 32 38 42 40 40 69 95 92
75 &3 76 &3 85 62 37 65 63 42
89 65 73 81 49 52 64 76 83 92
93 68 52 79 81 &3 59 82 75 82
86 90 44 62 31 36 38 42 39 &3
87 56 58 23 35 76 83 85 30 68
69 &3 86 43 45 39 &3 75 66 &3
92 75 89 66 91 27 88 89 93 42
53 69 90 55 66 49 52 &3 34 36

2Lell H1EL vl 4Rl 29 s2aL I Al AL A1D U5 d HI2 UL d- 20-29, 30-39, . . ., 90-99
(euuell Hwledl 23 &l 98 dlaell). Fai guml dlscll wslatl. i el @l (classes) el d-AHdrUe
(class-intervals) 2= -l doile PR (class-size ) ¥l qoilugions - (class width) 5& 9. 18] 20 Bl
A10 8, €35 adldl A -l dqva «4:qddl4L (lower class limit) > Ml Wl dva GledqoizilH
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(upper class limit) 5& €. Gel dl3 vl 20-29 Hi 20 A8:21{14L 24 29 w1 Gledadia{l 8.

Buid Ale AL 5, 2udR-FRaldl Gualol s34 Gur-l wuledl- AlEnd 3u stesHl {2 wadl 2% 53 wsi

ses 14.2
o2l oden 9l | 2uaf et | il Ava
AvUL (ualw)

20-29 I 3
30-39 NN 14
40 - 49 NN 12
50-59 H‘U il 8
60 - 69 NN 18
70 -79 N 10
80 -89 H\U N| |‘N\| H{| Il 23
90 - 99 NN 12

54 100

2L 2A3UML Ul 2% 52l HUlEcl A0 2 AL o1 © 2, detell ue udell AR del 2lssu
2 oLl d#EllL AR 2 D, 2 UL SiesA Wllgd Wil 2ualti-lddra sies (grouped frequency
distribution table) $& €. &l uBl A0l S5 wsl2A 9lad 5 8+ 18 + 10 +23 + 12 =71 UMl
50 % 5 clall ag, 6918 ell AUl gl

SUUEL 1Y § Guyscl SIesml ol URRUR 291 (non-overlapping) 8. ¢al <UL 3 w1l 2l cdleioriSeaon
At aloll eirticll 2sUL dld Aaal ay, adleonsSaion et adll oiiel wsl €ld. Gelewl aly 22-26, 27-31
Al ol @l wslal. ol 2u9RA(Dedl) «L gl A1SHL oL Ha 515 Avid 247 dlsl MU éldl Al

~ .

BELSWL 4+ ¢ UL FHE 215 adl-l 38 [enalaiinl ag- sital i dd 2udf-fde sies as).

sies 14.3
ax (B (Qeneflaii-l v

31-35 9
36 - 40 5
41 - 45 14
46 - 50 3
51-55 1
56 - 60 2
61-65 2
66 - 70 1
71-75 1

54 38
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¢dl 1L 3 35.5 [l 214 40.5 Bl ag-cnon ol -l Rienellzil aoldi sivie i dl dsa susl sul
Aol %89 7« cll A el aolml Y8l § Bl GleclailHl 35 Al 40 €la 2 <L ol % el ugdlell $lu
el adliml wsl aslal, sRel 3 6l sMs cdil-l Gleclailul 2 weR{lHl a2l vasia 9. 2usl vl
Rafaui aotq el A el sal AUSH 5 el 5B 6L aolidl 2qs3 2sell Gledilsl 21 ugdleit adi-l
SUERAHL AHA A, A WS UL 215 Al Gl 2t il uedlel aoleil 2t a2 2idR 2lag ul.
UG 2L SidReAL 286 oL 835 Aot+l GledflHimi GRS 24 wieflHinid] ole 53

BeleRel dZl3 a0l 31 - 35 244 36 - 40 .
36 - 40 il A4l 36
31 - 35 ~{l Gledadlul 35
»d236-35=1

|
A 2 =05

aefl @dl 31 - 35 @l eiedl Adl a9l (31— 0.5) - (35 + 0.5) = 30.5 - 35.5.
aefl Fla ol 36 - 40 &l eietdl AAdl 49l (36 — 0.5) - (40 + 0.5) = 35.5 - 40.5.
2L UBAML 20100 L 208 dl AL Acdd d2il 14l
30.5-35.5, 35.5-40.5, 40.5-45.5, 45.5-50.5, 50.5-55.5, 55.5-60.5,60.5-65.5, 65.5-70.5, 70.5-75.5.

¢ LAl Ul AAal [Renelinl doeel AH1A9L 53¢ »UUBLL M2 AsU 9. U 2 52U ofloy 218 AHUL
© 5355 Baul oid adll 30.5-35.5 244 35.5 - 40.5 1 el a3, iRl QR 21 a%t 521 a9l Avid A5 ?

ol 6l cOUML AL 24U dl Al 6L avid o] i ©. dell 215 303 WLl 35.5 4 a9l 35.5 - 40.5 i
M1 5308, U3d 30.5 - 35.5 (i AR, dell % U 40.5 4 40.5 - 45.5 QlHi Sl 35.5 - 40.5 Hi -l

U4, Aol 4% 35.5 (5UL 244 40.5 (3Ll 20453 35.5 - 40.5 247 40.5 - 45.5 Hi 1A 5390 240 w3l dtlsadl
uRlA 49, 2uafi-lAde stes 1aal, % 13 saldd ©

S5 14.4

as- (B ui) [Qensll2il avan
30.5-35.5 9
35.5-40.5 6
40.5-45.5 15
45.5-50.5 3
50.5-55.5 1
55.5-60.5 2
60.5-65.5 2
65.5-70.5 1
70.5-75.5 1
54 40
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g UUBL Ut 1 HE dHIRL gL sl dddl Hiledl dg Sul ¢d 218 adq 5€l9 3 dil d suaki-fade

sresul saldl.

udltt 2 2 21 o AR el 4 Al Hledl 2uafi-fade stesul oledl. Ml (@R 2 ufedl-u us

eyl vl Aoy avleonSalon =50 ol @l

1. 4128 8 L 30 Reuel>iidl 3(B2-242( Blood group ) <l [old {12 Yool 9

AUY 14.2

A,B,0,0,AB,0,A,0,B,A,0O,B,A, 0,0,

A,AB,0,A,A,0,0,AB,B,A,0O,B, A, B, O.

2L WAl 2uafi-ladRe stes- @zunl saldl. »u [Qanelaiia 3BR-guul 54 3ER-2 Al ay

£ i 5y 3(AR-9 Al Al AU B 7

2. 40 SRl 88l s 2 2 (Blal) Al ool o ¢

5
19
7

12

3

10

9

14

10
12

7

2

20
17

8

9

25
18

3

6

11
11
5

15

13
32
12

15

7
17
15

7

12
16
18

6

31
2
3

12

Guasd HUSAlA 0-5 L (FHL 5 2uddl Atll) uddl 4ol &, 5l adieonsS Al 215 adilsd siaki-[Ade sies

oprllell, L sleseil 2% Ul AR 56§ Hua olleldl didal ?

3. 30 [Bastl 215 HSAML 215 ALl AU Gl (% Hi) 1A UMSL 2ud ©

98.1

802 923
962 92.1

(i) 6L adl 84 - 86, 86 - 88 ALY oirl d WML 25 aAdilsd uaf-lAdeL s1es eiridl,

97.1

849 902 957 983

98.6 992 903

93.5

86.5
92.7 95.1

95.3

929 96.3
972 933

97.3

96.1

942 95.1

952 973

92.1

(i) o sedl wst ol 5 AL sl w291 56 gl © 7

(i) 1 A3l [EGRe12 g & 7

4. 50 Riendlzii-l yals Alzdleami suami 2udel Gl <12 wuil oal s

161
162
153
154
161

150
164
159
152
159

154
171
161
153
162

165
165
170
156
167

168
158
162
158
168

161
154
165
162
159

154
156
166
160
158

162
172
168
161
153

150
160
165
173
154

89

151
170
164
166
159
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() Gudsad MR 160 - 165, 165 - 170 a312 adll asa cdilsc 2iafi-[adel sies 30 2% 530,
(i) Bur-il stes uRedl Glaus [Bal dd g curell ust ?
SIS AUl AlclelRBIML Aes? Sruisu1ds-l 2lgcll ppm(parts per million)i ALKl HISwL 46411
s 2L, dl 30 RaHl woiel wldl > wauel © -

0.03 0.08 0.08 0.09 0.04 0.17

0.16 0.05 0.02 0.06 0.18 0.20

0.11 0.08 0.12 0.13 0.22 0.07

0.08 0.01 0.10 0.06 0.09 0.18

0.11 0.07 0.05 0.07 0.01 0.04
(i) Bl 0.00 - 0.04, 0.04 - 0.08..... 4313 <l @ adllsa siaf-fadrel sies duir s3.
(i) Seell [Rad ues SasASs-l Algdl 0.11 ppm sl @y, &l gal ?

SRl [AUs51ola <RS2l 30 dvtd BGLOClHL vilcldl 835 Abld 91U MOl d-l vl <13 Y1l

laael gdl :

Guisd Hlsdl M2 2uaf-fadre sies duir s

m el 50 eaia-Reliel Al et <l ool © ¢
3.14159265358979323846264338327950288419716939937510

(i) eaia-Ra vl 02l 9 4l el sty 2 fr-[Adrel oieiel.

(i) 22l Ay avic 2ie ALl Al auid s34l vis 204 9.

30 6LOLSIAL WEICLHE ey 5 olal HscllRBaiHi dHel Sea seus el sidsH a7 d-ul wadi

yReuHl 2 wHel sl :

(i) 2 Rl 5 adleons asa 2 25 adl 5- 10 as asilsd sia-ladel sies dur 53,

(ii) Sedl eloisl sall3ainl 15 seus 5 dell ay seus lafan Al st ?
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~

9. s susl 25 [BLIe usi-l s12-6123] oi-lld 8. 40 olelrl sl avui Wl 12 3ol 9:
2.6 3.0 3.7 32 22 4.1 3.5 4.5
35 23 32 34 38 32 46 37
2.5 4.4 34 33 29 3.0 4.3 2.8
3.5 32 39 32 32 3.1 3.7 34
46 38 32 26 35 42 29 36

2L &AL 0.5 adleions d 2 2 - 2.5 avlall a3iid s34 215 adilsd 2uafi-fAde sies einidl,
14.4 Rl 2udavIs 19021

wiledld sies gl salacidl 220 2uusl 53 el 8. 26l vl Huledl-dl ollo Ad gt
w2d 3 2AldvcHS YA (graphical representation) ds Al AL d A % sSAY O 5 “GUR
gl6el Scll s (Aol ay v 87 i Ad alsaotd Mgl qa-dl sidv gl ay 13 Ad as
2% 8. Ardlls WRAL 52l 2 A U] A, U0 B, 2L [ewaHl 2uud 13 sulde sudviiets
AL e 5314,

(A) 4oild™ (Bar Graphs)

(B) AHI Ul 2 HAHIA YUSIUS U el @A™ (histograms of uniform width and of varying widths)

©) btlg_l/r\'l Mg:ﬁ@ﬁ (frequency polygons)
(A) ECUAVL 2 200UGL RRIHE dX clotldvl [gl vl o12i 9L 24 del Rislicrs 9gld ugl 530 8. 21l
UL AsL 2R S 201l d-{l 2l s3g). e 535 FUl 0L A UM USLOUSALOLL o212
gl %elogel Acll salcl da s 21a U (R 5 x-2180) AMLA 2 SlReUML 2014 8 il HiledlHl Rsiiais
Al i dotldm 9., oflo el (MR 3 y-2ial) UR A Hed sulaciHl »id 9. doraiedl Glus d-

el (e uR 204U 9.

BELSWL 5 ¢ HIRBL 9 «AL s 2lssA (sl 40 [Renelaiiad dusdl ol M-l weial] sdaiul
el 2 dell wolel Wl 2813 24l LAV AR seUML S gl

T7
16
R
T 4
T
133
= 2
3
& 1

O 7 9 T F T <@ N [T T

PETET RS EERREE

F 03 F

ool -l
2usld 14.1
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Gu-l dolidvia 2l IS {12l wadidl oalel Ul

() 1R qRAHD Secl Renlail gwul gdl ?

(i) suL =R AL ay, [Renelail ogwal sl ?

Bie: AL S ‘geatell HRAY 215 A4 © e Qenelaiidl v’ 31 udd qeu 9,
(i) %12 ML 4 (el o= 22l ¢l

(ii) 2002 H[Eni Al 4y Renelatidl o= 2l gdl.

~\ ~ ~\ (g Y . ~\ Y ~\ ~\ ~\ ~\ ~\
el a2 suldd Belgwel M2 dotldv 4l d €3l Asld d B,

BELSRWL 6 ¢ T 20,000 MRS HHids HAddL 25 5200 gelgel dlus s Adl RS W A uHEl 2o

54 ed.
ses 14.5
R(e1x2-83) w2
(8R 3MH)
sRugl 4
SIS 5
s (e 5
TN 2
01clRL 2
Yo 1
uglel 1

Guasa “lsdl-l 2ua1d dondu €13

B4 : uugl R 2R A dute AU WSl deudn a1y, Ul Aidla 3 ollw sunmi

NN

2sH ‘wonr UMD’ O, ved 5 sRuel A 47 2[5 9. dril 242 T 4000 U4l

1. 28l doriiu-dl uglous 18 nere ell. dadl 515 usl *uu ude s Al via u qd YR
A, U, ALsALS AL €35 corRu-l UGl Al vl 2 6L colARYU A2 Sl UBL UHIA

N

AL, s YRA 215 215U dILs Al

2. vl [Rldel e u2 MER s3AA Wl ¢d agul ay vl 2 5000 éleall Ul 1 254 = 2 1000

HY Al sl
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3. uddl Ad s suiadl 1 254l udlousS 21 4 2isi-l Gausainl doira ol

4. 0l ol sBs dorliRy a2l 1 isusd vidR 914 oflo 2w A saldlsl,

coudut sl 14.2 1 euida 8.

~7
3
;6
&5
o~y
g4
33
L/a-'z
=
1
O & b o N & o
‘Xﬁx o« Q‘L\% & o™ 02 $ W

2u5(d 14.2

2l dd uedl A% MR e dael Aol 1S w5l 9l Gelsel dls AeuBLs vzl 2 sl Wil

oHRLL Scl A1 9. dadl Sedls oueldiml sies a3U sl 2 Dd HldlA Gy Dd 29 3 asid 9.
ualt 3 ualt 1+l 24 o AR el gkl Hadl WlBdlA oy doudut glRl 2%>Ud $3U.

8 AlEl A5 3 Add il avllsd siafi-fdas sudviieds 2%id 34l Ad 530 sy d AsA,

(B) dcuau
2L AL 2 doduiel 2UATIAS Yl % 43U B, UG d Add ALl HI2 AU B,

Getsal a3 2uafi-fAde sies 14.6 AL, dui 2is vl 36 [Qenalile do- 2uid 8.

ses 14.6
LS N(ESTE (Qenell2Ail aval

30.5-35.5 9
35.5-40.5 6
40.5-45.5 15
45.5-50.5 3
50.5-55.5 1
55.5-60.5 2

54 36
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ALell vl Guafsc MUl sdricis 9 otid 12l ealedl wHiel s

(i) ugl xR e uR oy U ada aoa ealelal, uuel 1A+l =5 B uie 53 wslat, uiq
udell ol g oled 30.5 ol 3 Acl dlendl e U s1U (kink) <L P& ei-iella salels.

(i) [enalii-fl ivaid (puaf)Riieiol sia U dod 1 gL ety 2l {8 2uaki 15 gendl 15
AL autda 4 a5 ddl Ad del 23U Sl de MU adey.

(iii) ¢ 2Bl adlelells Fedl uglons A adi-l wH el suafid 2aqzu Gausaioll doii
AL ol 2 E1R19 el a3 a0l 30.5 - 35.5 il doiliasll udiousS 1 A 24 Glaus 9 Al 2,

(iv) 2L WHLEl 2ueLa 2itslel 14.3 M olclledl WML AL v 1oLl

Qe Aqval
s e

O'V7305 355 405 455 505 555 605 655
ao ([Bal) - s
2u5ld 14.3

gl 5 s(s dolika aal SIS R el dafl uReuHl widv vis e gl el evi 8.
WL LAV 2 ®UA N (histogram) $& 8. dHL Adcl adlaon adilsel i [xi-fiazei-l s

wlAvLcHS g2l 8. BuRld % dotlduil + ¢dl d elolaiil uglond Ul i vl ufami

Hecayel ool ey 9,
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AMIATL

It is remarkable that a science, which began with the consideration of games of chance, should be
-Pierre Simon Laplace

elevated to the rank of the most important subject of human knowledge.
15.1 wclas
UYBL A% AL DAAHL (|2l gl dAlsdlAl Guaiol 5301 ¢l ¢
(1) 2% e wiladl-l Aeilerl 6.
(2) d uzlatHl Wizl U9l d-l HA s 9.
(3) Alls uleuxi sl wan e defl weior Al 9.

(4) dpal el a8 ddl sl aul 9.

(5) Ul qAHL MR 2ld @d dell wsidl 50-50 9.

GURAL clsAHE GUALHL Acidel A6el AL, Asl, WsHl <Ol 255l wRHLL suld 9.
Beleel d3 (1) Hi ‘a2e diiceirl Aetianl’ Al siel 2% cRAULE U UBL WL 2Ad cd2ALE L ULl 2ALd. »il
. c Y ~ . . ~ ~\ NN . N

AALE tlelell] YallsMisl 21 UURLL eLsLotel el 2l WRRAU ML arRie Ul ¢dl, del 2ul ade

S2cUML AAA B, dal % 2L (2) Al (5) | salden 8.
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sAclA-l A5 Y o] Rafal Wil asid ©.

sl Rigidiiel 23 8¢ Acna-ianrst, clifaslasia, [@xus, @aldsis, doflolll@suq, sauisil 2uouel saR
il A9LR AN [ERARE € 2im €35 AHLHL VoL % GUAL(L 6.

15.2 Aouarl - s wals sildam

UGAL HIRBIHE UYL Rissl Geornclledl 1, WAL $5alil ™M AL AsAAL(AMLAAL)] seustL dl 531 o 9

il el URBUIAL 1AL €9, a 2UuRL WAL S ALssU uReuHHL asadl sedl © d allvl.

The concept of probability was developed in a very strange
manner. In 1654, a gambler Chevalier de Mere, approached
the well-known 17th century French philosopher and
mathematician Blaise Pascal regarding certain dice
problems. Pascal became interested in these problems,

studied them and discussed them with another French

mathematician, Pierre de Fermat. Both Pascal and Fermat

Blaise Pascal . ] Pierre de Fermat
(1623-1662) solved the problems independently. This work was the (1601-1665)
:b{lé[t\'l 15.1 beginning of Probability Theory. Q,ué[a 15.2

The first book on the subject was written by the Italian mathematician, J.Cardan (1501-1576). The title of the
book was ‘Book on Games of Chance’ (Liber de Ludo Aleae), published in 1663. Notable contributions were also
made by mathematicians J. Bernoulli (1654—1705), P. Laplace (1749—1827), A.A. Markov (1856—1922) and A.N.
Kolmogorov (1903-1987).
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